Award Worksheet

Purchasing Entity: Shelby County Schools

Bid ID: 2732

Awarded:

Run Date: 8/21/19 11:52 am

Description: Bid for Central Nutriti

Bid for Central Nutrition Center Milk Crate Bags & Food Bags - Req. # 2331 Bids Due By:

08/21/2019 11:00 AM 08/21/2019 11:00 AM

Effective Start Date: Effective End Date:

Category:

Bids Sealed Until:

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Douglas Equipment		Net 30	52,010.0000
federal equipment dealers, inc.	DELIVERED	NET UPON DELIVERY	38,875.0000
HOTEL AND RESTAURANT SUPPLY			64,700.0000
Norris Products Corporation			21,500.0000
The Platinum Packaging Group		NET 30 DAYS	74,265.0000

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award			
	or the selected criteria. Item #: 3203 Milk Crate Size Insulated Bag Manufacturer & Part Number:	1 - 1.0000 Each Bag	federal equipment dealers, inc. of approved equal - FED 70575	46.2500	250	11,562.50						
	Quoted as Spec'd: Yes	ocven ores, cambro	Product Number: scs2732									
	Item Notes: Accepted Brand and Model: Norris Products Model C-BIC-MK or approved equal.											
	See additional specification information attached. Response Item Payment Terms: net delivered											
	Response Item Notes: delivered	d										
	Item #: 3203 Milk Crate Size Insulated Bag	1 - 1.0000 Each Bag	Norris Products Corporation	47.0000	250	11,750.00						
	Manufacturer & Part Number:	Norris Products Corpo	oration - C-BIC-MK									
	Quoted as Spec'd: Yes		Product Number: 3203									
	Response Item Payment Terms	Response Item Payment Terms: Delivery - 3-5 business days from receipt of P.O.										
	Response Item Notes: Price effe	ective date: 1/1/2020										
	Item #: 3203 Milk Crate Size Insulated Bag	1 - 1.0000 Each Bag	Douglas Equipment	68.8500	250	17,212.50						
	Manufacturer & Part Number:	Norris - C-BIC-MK										
	Quoted as Spec'd: Yes		Product Number: C-BIC-MK									
	Item #: 3203 Milk Crate Size Insulated Bag	1 - 1.0000 Each Bag	The Platinum Packaging Group	83.0700	250	20,767.50						
	Manufacturer & Part Number:	The Platinum Packagi	ng Group									
	Quoted as Spec'd: Yes		Product Number: 4-190819-320	3-NEW								
	Response Item Payment Terms	:: NET 30 DAYS										
	Item #: 3203 Milk Crate Size Insulated Bag	1 - 1.0000 Each Bag	HOTEL AND RESTAURANT SUPPLY	97.0000	250	24,250.00						
	Manufacturer & Part Number:	Cambro, Norris										

Line	Lot					Response		Pending Award	Pending Award	Pending		
Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award		
		Quoted as Spec'd: Yes		Product Number: As Per Spec		_						
		l	4 40000 F 1 B		24 5000	250	7 075 00					
2		Item #: 3202 Food Size Insulated Bag	1 - 1.0000 Each Bag	federal equipment dealers, inc.	31.5000	250	7,875.00					
		Manufacturer & Part Number:	Norris /cambro of appr	oved equal - FEDCIFC-2								
		Quoted as Spec'd: Yes		Product Number: SCS2732B								
		Item Notes: Accepted Brand and Model: Norris Products Model C-BIC-FD or approved equal.										
		See additional specification information attached. Response Item Payment Terms: NET UPON RECIEPT OF INVOICE										
		Response Item Notes: DELIVER	RED									
		Item #: 3202 Food Size Insulated Bag Manufacturer & Part Number:	1 - 1.0000 Each Bag Norris Products Corpo	Norris Products Corporation ration - C-BIC-FD	39.0000	250	9,750.00					
		Quoted as Spec'd: Yes	·	Product Number: 3202								
		Response Item Payment Terms: Delivery - 3-5 business days from receipt of P.O.										
		Response Item Notes: Price effe		,								
		Item #: 3202 Food Size Insulated Bag Manufacturer & Part Number:	1 - 1.0000 Each Bag Norris - C-BIC-FD	Douglas Equipment	59.2500	250	14,812.50					
		Quoted as Spec'd: Yes		Product Number: C-BIC-FD								
		Item #: 3202 Food Size Insulated Bag Manufacturer & Part Number:	1 - 1.0000 Each Bag Cambro, Norris	HOTEL AND RESTAURANT SUPPLY	82.0000	250	20,500.00					
		Quoted as Spec'd: Yes		Product Number: As Per Spec								
		Item #: 3202 Food Size Insulated Bag Manufacturer & Part Number:	1 - 1.0000 Each Bag The Platinum Packagir	The Platinum Packaging Group ng Group	83.0700	250	20,767.50					
		Quoted as Spec'd: Yes		Product Number: 4-180819-320	02-NEW							
		Response Item Payment Terms:	: NET 30 DAYS									

Line Lot Number Code	Item Description Milk Crate Size Insulated Bag - 21"Length x 14"Width x 14"Height	Purchase Unit 1 - 1.0000 Each Bag	Vendor federal equipment dealers, inc.	Bid Price 46.2500	Response Quantity 250	Total Price 11,562.50	Pending Award Quantity	Pending Award Total	Pending Award			
	Manufacturer & Part Number:	Seven OK's /Cambro	or approved equal - FED70575									
	Quoted as Spec'd: Yes		Product Number: scs2732C									
	Item Notes: Accepted Brand and Model: Cambro Model No. GBD211414(110) Black or approved equal.											
		See additional specification information attached. Response Item Payment Terms: net delivered										
	Response Item Notes: milk crat	e BAGS ,, delivered										
	Milk Crate Size Insulated Bag - 21"Length x 14"Width x 14"Height	1 - 1.0000 Each Bag	Douglas Equipment	46.2800	250	11,570.00						
	Manufacturer & Part Number:	Cambro - GBD21141	4110									
	Quoted as Spec'd: Yes		Product Number: GBD211414	110								
	Milk Crate Size Insulated Bag - 21"Length x 14"Width x 14"Height Manufacturer & Part Number:	1 - 1.0000 Each Bag Cambro, Norris	HOTEL AND RESTAURANT SUPPLY	47.4500	250	11,862.50						
	Quoted as Spec'd: Yes		Product Number: As Per Spec									
	Milk Crate Size Insulated Bag - 21"Length x 14"Width x 14"Height	1 - 1.0000 Each Bag	The Platinum Packaging Group	69.0700	250	17,267.50						
	Manufacturer & Part Number:	The Platinum Packag										
	Quoted as Spec'd: Yes		Product Number: 4-180819-14	21-NEW								
	Response Item Payment Terms	:: NET 30 DAYS										
4	Hot Food Insulated Bag - 13"Length x 10"Width x 9"Height	1 - 1.0000 Each Bag	federal equipment dealers, inc.	31.5000	250	7,875.00						
	Manufacturer & Part Number: SEVEN OKS /CAMBRO or equal - FEDCIFC-2											
	Quoted as Spec'd: Yes		Product Number: SCS7732D									
	Item Notes: Accepted Brand and	d Model: Cambro Model No	o. GBD13109(521) Red or approve	ed equal.								
	See additional specification information information in the second section in the section in											

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Response Item Notes: DELIVE	RED							
	Hot Food Insulated Bag - 13"Length x 10"Width x 9"Height	1 - 1.0000 Each Bag	HOTEL AND RESTAURANT SUPPLY	32.3500	250	8,087.50			
	Manufacturer & Part Number:	Cambro, Norris							
	Quoted as Spec'd: Yes		Product Number: As Per Spec						
	Hot Food Insulated Bag - 13"Length x 10"Width x 9"Height	1 - 1.0000 Each Bag	Douglas Equipment	33.6600	250	8,415.00			
	Manufacturer & Part Number:	Cambro - GBD151212	2521						
	Quoted as Spec'd: Yes		Product Number: GBD151212	521					
	Response Item Notes: This mod specific model number	del was used to accommod	ate dimensions given as the dime	nsions given did r	not correspond	I to a			
	Hot Food Insulated Bag - 13"Length x 10"Width x 9"Height	1 - 1.0000 Each Bag	The Platinum Packaging Group	61.8500	250	15,462.50			
	Manufacturer & Part Number:	The Platinum Packag	ing Group						
	Quoted as Spec'd: Yes		Product Number: 4-180819-10	13-NEW					

Response Item Payment Terms: NET 30 DAYS